Algebra Review #42   SHOW HOW YOU SOLVED EACH PROBLEM 
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2. A data set with an even number of data points is ordered from least to greatest. The middle two data points are represented by x1 and x2. This formula can be used to find the median of the data set. [image: ]
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10. Which graph appears to show a relation that is NOT a function?
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What is f( ~8) for the function f ?

A -56
B 88
C -176

D -352

f(x)

_11(x—24)
2
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What is the range of this relation?

A {x|‘35x53}
B {-3, -2, 0,3}
c {y-a<y<4}

D {-4,0 2 4}
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Identify each of the x- and y-intercepts of the relation shown.
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The table shows the relationship between corresponding values of x and y.

To determine the y-value —

A add 3 to the x-value
B subtract 3 from the x-value
€ divide the x-value by 3 and add 1

D divide the x-value by 3 and subtract 1
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Which graph appears to show a relation that is NOT a function?
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Look at the graphed function shown.

Based on the zeros, which best represents the graphed function?

A y=(x—3)2x+2)
B y=(2x+6)(x+1)
C y=2x+3)(x-1)
D y=2(x-3)(x—-1)
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A data set with an even number of data points is ordered from least to greatest. The middle two data
points are represented by x, and x,. This formula can be used to find the median of the data set.
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Which shows this formula solved for x, ?
Axy=m -&

2

B x,=2m—ux,
C xy=2m—2x,

Dxy=m-2-x,
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Which equation represents the pattern shown in the table?

A y=-3x-19
B y="x-13
Cy=x-1

D y=3x-1
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The graph of y = x? —2x — 8 is shown.

What are the solutions to x? ~2x ~8 =07
A x=landx=-9
B x=0andx="-8
€ x==2andx=4

D x="4andx=2
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Look at the data in this table.

Which equation most closely represents the line of best fit for this data?
A y=177x+013
B y=0.56x~-0.05
C y=05x

D

y=2x




